RULTUY N 2% TROHE] (]E)

NO. 1 NO.2 NO.3
1 |8 1|7 1 |—4x
2 |-5a 2 |—x 2 |6a
3 |10a+2b 3 |4x+6y 3 |2a-2b
4 |3x—4y 4 |3a-9b 4 |5x—6y
5 |7x+5y 5 |5a +4b 5 |5x—9y
6 (4a+7b 6 |6x+2y 6 |—6a-5b
7 |15a - 6b 7 |15x+5y T | 24x—42y
8 | 48x—40y 8 | —49a +28b 8 | —54a +45b
9 |13a-b 9 (17x-7y 9 |11a+2b
10| 11x—19y 10| 2x -3y 10 | -3x—-2y
11|8a-0b M |-a+10b M x+4y
12 (42ab 12 | 56ab 12 | -30xy
13 | 242y 13 | -24a° 13 |32ab
14 | 4x° 14 |-35x° 14 |124°
15 |8x 15 |-7a 159
16 |-5a 16 | -8y 16 | 8%
17|22 17| Lo 17| 6a
18 | 30a°b? 18 | 3022y 18 | -3x
19 | -28xy 19 | 24ab® 19 |-6x
20 | 40b° 20 | -15xy 20 | -27ab
21 —}—Zx—%y 21 %x+%y 21 ém%y
22 % 22 % 22| 220




RUILTUV K 2% TROSE (8

No.4 NO.5 NO.6
1 |7x 1 (8a 1 |-5x
2 |4a 2 |-10x 2 (13a
3 |7a+5b 3 | 4x+3y 3 |-3a—-4b
4 2x-7y 4 |3a-5b 4 \x—12y
5 |6x+8y 5 |9a+6b 5 |10x-8y
6 [3a+9b 6 [5x+y 6 |—6a-3b
7 [12a—-28b 7 (L2x+12y 7 |24x— 56y
8 | 24x—- 54y 8 |-27a +36b 8 |-32a+8b
9 |11la-6b 9 |17x-22y 9 |10a-b
10 [11x—13y 10 |x+4y 10 |9x—2y
11 (6a+7b 11 |(-6a+11b 11 |-b5x—11y
12| 72a 12 (42ab 12| 21xy
13 |28z 13 | -274° 13 | 72ab
14| 122° 14 | —48x° 14 |36a°
15 | 9x 15 |-8a 15|9b
16 |-7a 16 | -8y 16 | 6x
17| -2 17 |- 17| %a
18 | 72a°b? 18 | 4222y 18 |-18x
19 | -56xy 19 | 35ab? 19 |-14x
20 | 15b° 20 |-12xy 20 | 4bab
21 %x+%y 21 %x—%y 21 %m%y
22 7x3+09y 22 7’“;2131’ 22| =2




